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22820000 (u2{.p1utr\ trcuz huur t5 6000 400

22852000 aryauqrutru\php{ trQUZ hurur 100 5000 50

22852000 Drgauqurtrur\ \ndqunfm{ NNII 
'

hulrn 300 6000 20

22852100 b*Jl trcuz 1nnLql 1500 15000 10

24311900 Plnpf Qr2|r s% hurur 150 2250 l5
24440000 rrlupruprnu0lmp hurrn 2000 30000 l5
24452000 (ulurghg trcuz hurn 500 I 5000 30

24452000 <,tu\urpqbqul[r0 pmOrup]rrllrllurr trcu2 hurn 500 3000 o

244s4000
OntLurp[I[\uln uhpLtrhpfr qrrt3bp purpriurghnq h
qurhrqurbrq hrun 3000 9000 3

24951r20 Uftlr\ntrutrqm3h trcu2 hunn I 0s0 I 0500 10

24911200 Erimlulru 3.5 l1q trcu2 hrurn 4500 1 3s000 30
24910000 Unuhbd, Lruhnhur 0.5r treuz huln 1 500 60000 40
24911200 Unu$r&{rynrlfr r rLu4 hrurn 2200 33000 15

24911200 lpurldmlullu trcuz hurur 4000 1 2000 J

2491t200 Unuflr& purpphltrhnh Bulhurhqhb, uh]hlrnhh hhriph rlnru trcuz hrurn I 700 6800 4
30141200 Zuzrlhl rLu4 hurur 7500 45000 o
30142200 lu\|r1-4pulftup\r1ur3 |rtr rf hphtrur NNTT' hruur 280000 280000 I
30t92t00 flhuftr trcuz huur 200 3000 15

30192110 fauLup hruur 200 8000 40

30192110 +pf2nturfrtrm{ trcuz hul.n 950 28500 JU

30192r21 +plrlirtp \ulfrurpirprl hurur 80 8000 100

30192130 Uunnlrur ACUZ huu 100 8000 80

30192t60 r*nblo hrurn 400 4800 l2
JU 92160 rupfiu {p&tur{ ACUZ hunn 350 4200 t2
30197rr0 rurplr2[ uruhrl hruur 100 2000 20
30 97120 rndqull urr{r 200 4000 LV
30t97320 trurpnrl qnpblrp hu-rrn t200 7200 o

30197221 Udpurll trcuz um$ r80 900 5

30197221 uilpu\ ilhb trcu2 rmrth 400 2000 5

30197221 Uilpur\ plrphqlu uh qnr-1bfr ritb trquz hum r00 2000 20
30197221 Uilpur\ pbph{ur uh qntltr}r rlfr2lrh rLu4 hruur 80 2400 30

3019"1221 Udpur\ plrphryur uh qnr-3bfr rlurpp hrurn 40 1200 30

301991 10 Tlururdhirurhurtm4 pmrga trcuz um{r I 500 9000 6

30199230 Oprup A.4 trQUZ huln 120 6000 50

30199230 Oprup ,A'3 trquz hunn 150 7500 50

301923s0 Z'IU-| pnqp trcuz hurur 150 I 20000 800
30199792 CFurgmlg trQUZ hurur 2400 14400 6
30194700 t-h\ur1n 4hpdur\ir FCU2 hruur 6000 6000
3021 3300 2unJurlurp qlulf h h utlrupur bm l treuz huln 400000 400000
30232110 Lurqhpurilrtr rnq|1 ACUz hunn 78000 78000
30233t32 Upuuplrtr \n2ur u\ul{urnur\ trcuz hruu 4500 4500
30234300 ]D-R treuz huln L20 I 2000 100
30234400 )VD-R trcuz huln 120 12000 100
30234500 bgh2 \plr2 USB hlr2nrlmplmtr hurur 12000 36000 J

30237000 Jbmgtlurh uqplntp hurur 12000 60000 5

30237000 Zm{hrup /cooler/ I huur 900 5400 6
30237000 Zn{hurp /cooler/ 2 trcu2 huln 1500 9000 6
30237000" U,ll,f I trcu2 hrurn 6000 6000 I
30237000 Uurlpqlunnurl|r riurpur\ng trcuz hruur 300 3000 10

30237t00 Znuurtrplr \nunru\|r1 UP S hruur 125000 125000
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30237100 3nrqJrhu l500VA PRO trcuz hurn 4s000 90000 2

SVZJ I rJZ U-p.I" NNTT' unrrlr 36000 36000

30237250 Unbfnnnplr pug urtr&hnnglr\ trcuz hunn 4000 40000 10

302374t0 rqbFq I hrurn 2000 12000 6

30237460 Jurtnburzurn trcuz hurur 4500 27000 6

3r224000 *nlrt\rnnp trQUZ hurur 50 5000 100

31321200 UurlnluDMX trcue rihnp 2000 80000 40

3 1410000 Uurprn\ng firgpulqnFqnrl trcuz huru 2080 68640 JJ

3 1521300 Ourhqrupurhlr gmgullrh4\hpfr trtp\urnmg{n4 7' hunn 14100 I 804800 r28

31521000 Surnnt n hq nnntBtn rLfu h pfr n r nbu Lu! fr 1ru tf q hp +purli 2302100 2302100 1

31651000 Llh\nulr2 duqullb0 fiqnlhfi ut I 2nylgl trcuz hturn 250 7500 30

3 1651000 Uk!mu[r2 druulunlb0 frqnib0tn hunn 300 I 2000 40

3165 1000 $ntiilhE treuz huur 350 3500 10

3 r 686000 tunnq dhb hunn 500 I 0000 20

3 1 686000 lrpttg,hrtpn trcuz hruur 400 8000 20

32330000 Undrn |rburtp$tp /furrppmp[ hrudur/ treuz huru 102000 102000

32342000 Purp&prulunuhhp /gturuS|rtr Eurnurlnr-pluh hrurftup/ rLu4 huru 36000 36000

32342000 Uurnqfrul|r /r.intrfnnnp/ purp&purlunu trcuz huln 107500 2 1 5000 2

32342100 'Tlpn$hulrntrurl ru\utr2ur\urltrhp hurur 1 10000 220000 2

32442t00 Onpp dur3trur3frh {ruhruhut/ilnbfnnnpbhpfr hu{utp/ trcuz hutn 40600 40600

325s0000 Zknurlunu ecu2 huln 4500 4500

33 123 100 &h2rfurh urqurpuur trcuz hurur 12000 12000

33t4 t17 truripurll +hrfph trcuz huln 250 2500 l0

3314 trt FulJpurt tur ut urd rururt huln 600 6000 10

3314 400 l.hurh0h 6hn0nc0hn rLu4 qnllq 570 17100 30

3314 623 ldrUurturh urruh trcuz huur 3500 14000 A

33693100 }m0urBhrlhturu trcuz hrurn 700 7000 10

)) I 440 lpphhp\ trcuz huln 2000 8000 A

3371 110 lltrurhuuluurht uul nht trcuz hunn 2000 4000 2

J)l 200 ]hrfpn riurpnnn htlmt hul.n 2000 20000 i0

)J I 400 fdurnrahrlrtn qnllg I 800 7200 A

33711200 \liruhrup4rupilurh qurpruqur /rnnt2, rnntu3frL, qpltil/ trcu2 +FunI 60000 60000 I

337 200 ]trlph rruun hrum 2000 24000 1a

J)t 200 Urph rfururhur rLu4 hurur 2000 s2000 lo

33761000 9mqurpurblr pmrga rihb qlurtlu{luphpn{ trcuz hrum I 100 385000 350

55 tO 000 9n4urpuhlr pm4p rnnu[hpn{ AQUZ huu 700 3 1 5000 450

33763000 lhnph nnnh unEhlbtn trcuz ulr-rh I 100 I 10000 100

34312000 undhrh lnln trcuz hinn 9000 i 8000 2

34312000 lurtruuurnhr htnmlr urllnh$nhq trcuz thlrlr 9100 9100

34330000 +urq\! hru1ilurqu\lr FCU2 hunn 80000 80000

34330000 Iurotr rlhohburrh nhth turnhtur trQUZ hurur 125000 125000

34324000 lltrhil hhtrurth hunlurn huln 2500 30000 t2

374527t0 Ohbhuh qluurtt trcuz hurur 200 r0000 50

37525000 onlht hunn 100 3000 30

38550000 *urqlr qurhurpurLurlfrtr 2ru{r[1 hurtrqnlg hurn 1400000 1400000

38550000 rtbunuturL d2uht LKOP hunn 51000 s1000 I

38s50000 Iurqurburrrlhl rnmnphtrurrhtr RPT-3 160 il3 durd huln 6s0000 650000 I

39121100 )puruhqurh hrurn 70000 70000 I

39122200 Ihuhrunruh trcuz huln r40000 140000 I

39131000 Ipu4urpur\ trcuz hurur 8000 24000 3

3913 1000 [urnurt rururn-rnnulnu.r rLl& hruu 37000 1 I 1000 J

3915t200 Uhnruh uphrrurururhprurhh trcuz hunn 140000 280000 2

39224200 Urqru\|r rlurpptlnr- ]unqruhur\ hn\*p trcuz hrurn 4900 14100 J
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39224330 },m11 hururur! ilu.rppnr1 dlrpqml, dn4n{ trcuz hrutn 11000 33000 3

39227120 Uhphtrurl]r uruhq N75, N90, N100 _ecuz tnm$ I 100 l 6500 l5

39224210 t turuurlrrutr rln&hir trcuZ 4Fruri s5000 ss000 1

39240000 9urp4prup{npp Wings huru 8s0 u500 10

39240000 9urpn4 purp rihb Wings muz huur 1 700 25500 l5

39240000 0rurunnlm cntnn /irudnrlth unno/ trcuz hurur 450 4500 10

'39240000 flur2qJrfir hrurlrupurbm /rfrurgrL rfrrpurqpmp3mbhhpfr
nurbrut/'

rLu4 hurur 4000 4000

39241200 Ll\punn qntpp rLu4 huln 2000 24000 1'.'

39241t00 lurhq\trhp rLu4 huln I 800 I 8000 l0

39298300 lurntuniruhhhn trcuz hurur 4000 8000 2

39sr3200 Ohd,hnnqhlr hnturn urnulrn d hurm 300 60000 200

39525800 tl.upuhh ilurBnbtm Znp trcuz hrun 950 28500 30

39541 I 10 1)runruh rLw hurur 900 45000 50

39541 I 10 rlurnruh nunipurhhq treuz dhrnp 900 4s000 50

39561000 ftulqurll rLu4 dturp 2000 20000 t0

397t3431 <Vhpluhp hurnru\ riurppnn urupp| lunqurtrur\ rLu4 huln 40000 80000 2

397 3431 <\hpluhp BV 5/1{m2h\m$ qurp\hp hul"n 800 40000 50

39711430 hhturnutruh uurrhlr trcuz hunn s000 5000

398 1 1 300 Crrufintuh> Melodie trcuz hunn 6500 I 30000 20

398 100 6htnut trcuz huln 2500 25000 l0
398 100 (urutur! dupnhlnr 2nn rLu4 hunn 760 I 5200 20

3983 I 000 Ltltugph qlrrZl' trcuz huln 700 I 400 2

3983 I 000 Lrlrugph q,rrZlt Persil I 0\q trcuz quFll I 1280 22560 2

3983 1000 <trhpluhp{n2k\nttr 1{tugn{ ilf2ng RM 760 ttq 8200 57400 7

3983 1000 L{ugpf hfqnt\ Calgon 1.51 trcuz hurur 4620 I 8480

3983 1000 Jluuruhuluq hhrlnt\ /.{urtr}r2i trcuz hurur r500 1 500 I

3983 000 Jtuhurutbql:nn htnnrt /dudhr/ trcuz thlllp 150 450 3

3983 240 lurlu2tu /utluuurhurtrnl rl,oZt/ trcuz huln 3r0 7440 24

3983 200 JuntLa hunn 3200 38400 lz

3983 600 :,]rqlrhtr[\ odun qmqruputrur\nbplr f *fr\h trcue hunn 2190 350400 160

39831240 :,]rqlrhb[\ odur q]runrup hunn 2s0 25000 100

3983t240 ll4hurfump oqutuqnpbrlurh &hnp| mhfnlhpuurl rlfr2ng
t0001il

hurn 6300 2s2000 40

39831240 lurqntuurf ruluururhurLurrl hhrlm\ /.lutrir2/ trcuz huLn 2400 4U00 2

3983 1 600 ?ntqurpurbu\nbp riurpphpr hhq".q trcue huln I 050 42000 40

42164000 {urpuurlururuh hunftun Lurtuulntur.lurb uru nurhphhn trQUZ qpuril 344000 344000

42715000 sunh ilkphhur hurnraruburnh hunlurn trcuz hruur I 20000 120000

42924300 atBh 6tuh ilhphtnu trcuz hruur 690000 690000

44111200 Shdhh.n rLu4 ululEU 3000 30000 10

44 t52t0 lplqJruuqhur hur"n 6900 6900 I

44 34000 ){hgurp trcuz hrurn I 5000 I 5000 I

44 67200 13mpt1 ururpphF lur+tplr rLw unt$ 2500 1 0000

44 12100 $ph4 olrtr\ul4unn trcuz bq 600 120000 200

44 15710 ]|turuhrp[ phurLh bub\ pm2h \ru$*pFlrl l70xl70 rfhup 144000 288000 2

44 91000 bu:htnur 3ilrl trcuz hurur 4500 90000 20

44 91000 burhhnur 10rfti hurur 12000 204000 11

44 91000 Durtu& nhrtur trcuz rlhrnp 900 225000 250

44192000 fi\upnqp \unp]r ffu /Pl 80, P220l dhurp 2000 4000 2

44r92Q00 {"ttJt\ trcuz hunn 2500 5000 2

443r5300 Opm qn4tlurh huLiurp trcuz hrurn 800 I 6000 20

M3t5300 Utrurq trcuz hq 6700 l 3400 2

443r6000 Purnurlmulr |un4n{u! 40x3 Orhf _ecuz ilhurn 800 1 76000 220
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44316000 Utnru4ur\urfu rutrfunttru\ 40x40 rlhinn 3000 24000 8

44316400 Ihuurntur duru.lurlhh rLt4 rihurn 700 10500 t5

44333000 Utuurqurlurp rLua rlturp 600 30000 50

444rt300 Lrlrugurnulh urnr] hurnrutrnof hullurp trcuz huur 8000 8000

44425500 Ulrft\nLhAq trcuz hurur 100 6000 60

44423200 Uuurhdurh urtrhrltrtnnrl h hurnpruhnr] rLu4 huln 442000 442000

44424200 rqln4 dulqul]th uh trcuz ilhrnp 800 8000 10

44424200 Jlltt! hrurn 600 9000 l5

44424200 Jl1rt folfnlt trcuz hunn 400 8000 'A

44424200 Jtrnr /dhb/ treuz huru 4s0 1 3500 JU

44424200 J\nlQmpp/ trcuz hurut 250 5000 20

4451 1000 2ru!11nq\ur ANTT 
' hunn 25 2s000 1000

445 000 Lnpqfr\ tuppuurlng/ trcuz ulr{r 2500 10000 ^

445 000 Urnndurtrurb uhthtntrh hruriurp t trcuz hunn I 500 7500 5

445 500 Unno d.hnph trcuz hrurn 1 500 I s00 I

445 2700 fuurninnqtrtn uurnnhn trcuz hurur I 000 1 0000 10

445 2700 t uruplrfrhplr hun{urpurbm }urupurng +nPF treuz hu,nn 2400 7200 3

445 2200 2.urnFur2mnra ut nn$hunburl hurur 25s0 7650 J

445 2300 lJmnd 1.5to hunn 4750 4'150 t-

44512800 [rmunur\urhurtrtrhp]r hunlurprubm trquz hul"n 4800 14400 J

445 2200 Utqurh tumhr rL|& hurur 2200 4400 2

44522200 Furhur{rtrtrhp}r hrurlu p urbnt peuz hunn 9900 29'700 J

445t29t0 )u:qur{ Ohp unupp hp th u.,:mh trcuz tnltlt 1 3700 1 3700

44512910 )ru4tu{r0bp bp\urpfi muppbp 2uttltlt trcuz unulr 8000 8000

44s2tt00 Durburtr hutn 5000. 50000 t0

44522400 Our\urtrlr ilfr2nr\ purlrufrtrhpn{ hurur 2500 25000 r0

44523200 Itnnru uurhrurhnh rLu4 rnnr{r 800 4000 5

44531600 Uurtrh\, hh4mu urupphp 2u$tplt trcuz rlFrud 40000 40000

44s3r600 Zurnnrt hhnrnru nurhrhdh unnnhhnh hurdurn nnull 100000 100000

44531510 lrnmururlhhp rnurpphp )u1+hpb trcuz nnunl 60000 60000

44532200 Sulholurttrtp rmupptn lulhhph trQUZ 4nrurl 40000 40000

44810000 Lhp\hp trcuz nnrud 100000 100000

44812200 3mnurhhnthn h qnurLhpbhn trcuz rlFurri I 20000 r 20000

44832100 IqhrnnL trcuz hunn 1000 I 0000 10

44832000 -n6|r2 trcuz huur 750 I s000 20

44832000 Ouryruqlrplnn rLu4 hunn 900 1 800 2

44921100 ]hruu ACUZ hq 350 1 7500 50

Ufuutuzutttpttht 80q000

79820000 Srqurqpmplnth 4nud 800000 800000 1

Aunu4ntplnzhttbp 33,489,200

41 1 10000 fur-thpr 2mp <l-Iurpnrp 2nr-p> huln r 800 144000 80

4542t100
Uhrnurlurqluruuh 4nbhpfr {lu\urLhpf , pntrut\bhp}t

thq{ur\thpf {hpurirnpnqntl
trQUZ +Fru{ 1 50000 1 s0000 I

45422100 'Ih\nphtpg quhtlm hrurlurp 4urpur\thpir ACUZ pri 3335 120060 36

45422100 9pmgurprut{r uhrlutrtrhpp h urpnnLhpfr {hpubnpnqrlutt 4pruli 625000 625000 I

45442100 Uhb phrilr 2urpdur\urtr h utr2urpd huuru\fr hhp\nril huru r00000 100000 I

503 10000 l'IU-| uquuup\nr-rl urlfru 3600 43200 12

503 I 2000
Zulfiu\urpq1ul|rb uuppLpfr rqulhqrufurruf L
ilhnurhnnnonuJ

trcuz 4Furd 2s0000 250000

5041 1200
aurqrul]rh hu2r[r2]r urnn4ru2rur{liurtr \urpqurlnpntil tt
rltpLufunpnqmrl

huln 868s0 86850

s0413200 Zur\urhp4hhurl|rtr hurlur\urpqfr uqruurup\nttl uttfu 6000 72000 t2
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50712000 trtrffr ritluurblqrltrhplr pbpuglr\ rlhpurbrpnqntil trcuz , urifu 36000 432000 t2

51 1 10000 Uurppur].npntrfhhpfr.rltpufu npqilutt +Frur-i 200000 200000

60120000 Supulr Eurmulntp3nth rLu4 4Fulil 70000 70000

60441000 )4f prupdhgntrf trcuz hunn 5000 60000 t2

635 12000 Urllruruuluruurp\nrd /unrluhplr {udump/ rLu4 hurur r 590000 1590000

641 10000 OnurnurS[tr burnurlmplmh trcuz 4Furd 40000 40000

64210000 Zhmuhrurlnp4ur\griurh urdfu t37 t67 1646000 l)

64216200 Sh4t\urunlnr-plurh burmulntpSnr-h rLUA +Furil 70000 70000

651 10000 Qpulirurnur\rupurpriur 0
ONIT' uli[u I 1500 r 38000 t2

65210000 Qurq unlhu 101 1940 5059700 5

65210000
Iurqu-ruultuuurp\rhuh hunlur\urpqfr uqruuurp\nrri h
turnqullnnnr-rJ

unilru 22750 I I 3750

6s210000 +urqlr hur2rllr2|r trurluurq8'rfiuh h r"fnhrnur&Iurh 4punl 1400000 1400000

6s310000 :1h\urpnttihpqlu unllru 482917 5795000 t2

661 10000 trurh\ur3|rtr 6urnu1mp3 mh hunn 4s00 13500 3

66s 10000
O02urpd qmlplr utuluhm[urqpntplm0 /puurpn0]t
rh0p*turBuurrurnm0/

trQUe hur.n s00000 500000 1

66514100 U{undhphhur3}r ulqurhmlurqpntplml: rLu4 huur 44000 44000 t

71 63 1 100 thnntqliurb turrauurthnh rlrnn&urphhinratnr-b huln 78880 78880

71 63 I 100 Irupurulurururh bJuulnurp ntqlrLhplr uurmqrnrl trcuz hunn 40000 40000

71631200 Utpttrurl|r urhlu. qhlmril hurur 21800 21 800

72212443 Z0 bpuqltpp huln 198000 1 98000 I

'724t0000 fr0urhp0hmurl[0 gurtrg unifu 25000 300000 12

72413000 Qurlplr uuluuup\nul unlfru 8330 99960 t2

72413000 lurlplr uluurpu.rur.nnul trcuz huln 300000 300000 I

79341000 l-n{ruq4ur;}r0 brunurlntplmh +Fulil 144000 144000 I

79521000 Tlunndhburhurlllurh burnrulmp3nrh 4pluri 25000 25000

8051 1000 fhumg mil, {hpurqulnpuuurl rl trcuz 4Furil 40000 40000

90s1 1000 Uryluhur0mplru0 {durp uril|u 1 0250 I 23000 t2

90670000 lhnurur[qrug]nu urdlu 7000 84000 t2

92312210 Zrulhtqltru\ rL_u4 4puni 9367000 9367000

983 I 0000 P}t ti. tituppnrd qmQf\hhplr hurur I 500 60000 40

983 I 0000 Plrf .rturppui \grp rupnnbhplr trcuz hunn 9000 4s000 5

98310000 Plrd.iluppnrd pm$hurf ru$mLhplr hrurn 1000 34000 34

983 10000 A|il.rf ruppnni \ru{p1lrh trcuz pri 2000 1 82000 9l

983 10000 Plll.ilurppnul nqhqrpqh trcuz prI 1 650 148500 90

98310000 A$i.iluppmil trcuz 4puril 300000 300000 I

98393000
lu\fr2trhpfr rupururhruqnuurlr /ulfurnul$r h drlhnu3|rl/

4hpAu\| bururlntplmh
FCUZ huln 1 12s00 I 12500 I

98390000 SnWu*ffifl qururpururnmrl trcuz hrurn 7500 22500 3

99600000 I ffiuffiilGr'*Uullbruluutp q20
4Furd 3000000 3000000 I

ffi PyqS;:i%X 53,561,770
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